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| have divided the marbles int-:::uC equal groups.

There are D marbles in each group.
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< of Joe's marbles is [: marbles.

Find 2 of Joe's marbles. DLOIOOIGIOIOIOIBIC),
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| have divided the marbles inmC equal groups.

There are D marbles in each group.
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< of Joe's marbles is [: marbles.

This is % of a set of beanbags.
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How many were in the whole set?



Kieron has £3 and 50 p
He wants to give half of his money to his brother.
How much would his brother receive?

Rajesh has £28

On Friday, he spent i of his money.

On Saturday, he spentg of his remaining

money and gave £2 to his sister.

On Sunday, he spent % of his remaining

money.

How much money does Rajesh have
left?

What fraction of his original amount is
this?



